HOMEWORK

= Read the text and fill in the blanks with the verbs between brackets. Use the preterit.

My first trip to the USA (be) in 2015. | (visit)

Florida but | (not have) time to go to SeaWorld! So |

(go) back to Orlando last year. There are four different parts in this

fabulous park. It’s so big! | (sleep) in one of the hotels, so |

(spend) a full day in the park. | (enjoy) the killer whales, the sea lions
and the penguins. That (be) fantastic. | ___(be) so lucky
because | (try) the new 2016 attraction: Mako, the new roller coaster! It’s

faster and longer than any roller coaster in Orlando. Scary........ but awesome!
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